Examples

1)Generate the following table using the “for
loop”.
1

Sol_ution_

for kk=1:20,

qq(kk)=[kK];
end;

aq

2)Generate the following table using the “for
loop”

1 1
2 4

120 400 |

Solution

for kk=1:20,
qa(kk,:)=[kk kk"2];

end;

qq

3)Generate the following table using the “for
loop”.
1 1 1

2 4 8
3 9 27
4 16 64

120 400 8000 |

Solution
for kk=1:20,

qq(kk,:)=[kk kk"2 kk~3];
end;

qq
4)Generate the following table using the “for

loop”.

0 0

5 25

10 100

15 225

50 2500

Solution

inx=0;

for kk=0:5:50,
inx=inx+1;
qq(inx,:)=[kk kk"2];

end;

qq

5) The voltage across a discharging capacitor is

v(1)=10(1—e"")

Generate a table of voltage, v(t ), versus time, t,
fort = 0to 50 seconds with increment of 5 s.
inx=0;
for t=0:5:50,

vt=10*(1-exp(-0.2*t));

inx=inx+1;

gq(inx,:)=[t vt];
end;
aq

For loop
445)Write a MATLAB code to construct the
following table.

ala’la’] at|a

AWINIFLO




451)write MATLAB code to obtain matrix P1.
Use the commands ones, zeros, eye a:b etc.
Use for loop. Do not write matrices by typing all
numbers. For example to obtain P1

1000

0200
10030
000 4

>>a) aa=zeros(4,4); for kk=1:4, aa(kk,kk)=Kkk;
end;

>>p)P1=[1 000; 0200, 0030; 00
04;];

Both are correct but b) is not acceptable.
Required answer is a)

452)write MATLAB code to obtain the
following matrices.

(123 4 5
14 9 16 25

3 A3 43 3
aa=|1 2° 3% 4% 5

14 9 16 25.... 400
bb=|1 23 3% 4% 5°® 8000

CC=

00 0 4> 0 0]
Hint to make cc, obtain the matrix

1000

0200

= and cc=[ gg**2  zeros(4,2
=4 5 3 0 [ag 4.2) ]

000O0 4

10 0 0]
_ . 02200 _
Or obtain the matrix rr= ) using for
00 30
00 0 4%
loop, and cc=[rr zeros( , )].

453)write MATLAB code to obtain the
following matrices. The matrices are 5x5. write
your code so that you can obtain 100x100 matrix
at the same style.

00001] 00001]
00010 00020
a=|0 01 00|, b={0 0300 |,
01000 04000
10000 | 50000 ]
[0 0 0 0-1] (0000 1]
00010 000 -10
c=|0 0-100(,d={00 100,
01 000 0-1000
-10 000 10000 |
(001 00]
00-100
e=|0 0 1 00 |,
00-100
00 100 ]

[10001] [10001]
01010 02020
f=/0 01 00/,9=/0 0 300 |,
01010 04040
10001 |[50005]|
1 000 1] [00100]
0-10-10 00100

h=[00 1 00|j=[11 111 ]
0-10-10| (00100
100 00| (00100 |




452)write. MATLAB code to obtain the (1100000000
following matrices. Examine the diagonals. 1100000000
0111 1] 011107 0011000000
L0111 10101 0011000000
o1=l11011 ox=11011 | Q8:0000110000,Q9=
11101 10101 0000110000
11110 01110 0000001100
111117 11111 0000001100
L0111 L2101 00000000112
Q3=11311|,04=111311 - ‘0000000—011_
L1141 L4141 11001100112
L111% 1115 11001100112
L - - - 0011001100
11115 0011001100’
12141 11001100112
o5=(11311 |, 11001100112
12141 0011001100
11115 10011001100 |
010101010 Sample solutions
1 01010101
Q6= 010101010 , ;/;i?t):gs(z 5)*8 zeros(2,3) ]
101010101 f2=[eye(3)’2*ones(3,3) é*or{es(3,2)],
010101010 ff=[ [f1; f2;] 8*ones(5,2); 9*ones(2,10) ]
1 01010101
(00000 000 O] %331 G
111111111 g=zeros(9,11), 9(5:7,5:7)=1
00000 O0OOOOO oK
Qrelt 1 1 1 111114, k(l)<:[zeros(13,l3)];
00000 O0O0O0O kk(3:5,3:11)=1
111111111 kk(6:11,6:8)=1
00000 00O O]

%342

a=0; qg=[ 2 3; 9 a]; bb=[8; 20],
Xy_solution=inv(qq)*bb, xy_table(1,:)=[a
xy_solution" ]

a=1; qg=[ 2 3;9 a]; bb=[8; 20],
xy_solution=inv(qq)*bb, xy_table(2,:)=[a
Xy_solution' ]



a=2; qg=[ 2 3;9 a]; bb=[8; 20],
xy_solution=inv(gq)*bb, xy_table(3,:)=[a
Xy_solution' ]

a=3; qg=[ 2 3; 9 a]; bb=[8; 20],
xy_solution=inv(qq)*bb, xy_table(4,:)=[a
Xy_solution']

a=4; qg=[ 2 3; 9 a]; bb=[8; 20],
xy_solution=inv(gqq)*bb, xy_table(5,:)=[a
Xy_solution' ]

%351.a
w=[0:4], x=j*w, qg=x."2+1, table=[w; x; qq]

%351.b
w=[0:4]', x=J*w, qg=x."2+1, table=[w, x qq]

%412b

xcoorl=[6 10 10 6 6], ycoorl=[5 5 21 21
5],

xcoor2=[7 9 9 7 7], ycoor2=[10 10 18
18 10],

plot(xcoorl,ycoorl,xcoor2,ycoor2)

axis([-1 15 -1 25))

%413c
xcoorl=[-5 7 7 -5 -5 7], ycoorl=[-5 -5
10 10 -5 10],

xcoor2=[-5 7], ycoor2=[10 -5 ],
plot(xcoorl,ycoorl,xcoor2,ycoor2)
axis([-10 15 -10 25])

clear all; close all;

%415

t=linspace(0,20,1000); x=sin(t);
11=x<0; x(ii)=0;

plot(t,x);

axis([-1 30 -2 2])

%420a

x1=10; y1=15; r1=7,
xcoorl=linspace(x1-rl, x1+rl, 100);
yy=sqrt(r1”*2-(x1-xcoorl).”2);
ycoorl=abs(yy)+yl;
ycoor2=-abs(yy)+y1;
plot(xcoorl,ycoorl,xcoorl,ycoor2)
axis([0 30 -0 30])

clear all close all

%422c

x1=10, y1=15, r1=8
xcoorl=linspace(x1-rl, x1+rl, 100);
yy=sqrt(r1*2-(x1-xcoorl).”2 );
ycoorl=abs(yy)+yl;
ycoor2=-abs(yy)+y1,

xcoor3=[x1-r1 x1+rl]; ycoor3=[yl y1];
xcoord=[x1 x1]; ycoord=[yl-r1 yl+rl];

plot(xcoorl,ycoorl,xcoorl,ycoor2,xcoor3,ycoor3,
xcoor4,ycoor4)
axis([0 30 -0 30])

%424a

x1=10, y1=15, r1=8
xcoorl=linspace(x1-rl, x1+rl, 100);
yy=sqrt(r1"2-(x1-xcoorl).”2);
ycoorl=abs(yy)+yl,;
ycoor2=-abs(yy)+y1;

xcoor3=[x1-r1 x1+rl]; ycoor3=[yl y1];
xcoord=[x1 x1]; ycoord=[yl-r1 yl+rl];

%calculation of the points.

px1=x1+rl; px2=x1+rl*cos(pi/3);
px3=x1+rl*cos(2*pi/3); px4=x1-rl; px5=px3;
pX6=px2;

pyl=yl; py2=yl+rl*sin(pi/3); py3=py2;
py4=yl; py5=yl-rI*sin(pi/3); py6=pys;

xcoorll=[x1 px1]; ycoorll=[yl pyl];
xcoorl2=[x1 px2]; ycoorl2=[yl py2];
xcoorl3=[x1 px3]; ycoorl3=[yl py3];
xcoorl4=[x1 px4]; ycoorld=[yl py4];
xcoorl5=[x1 px5]; ycoorl5=[yl py5];
xcoorl6=[x1 px6]; ycoorl6=[yl py6];

plot(xcoorl,ycoorl,xcoorl,ycoor2,xcoor3,ycoor3,
xcoor4,ycoor4, ...

xcoorll,ycoorll,xcoorl2,ycoorl2,xcoorl3,ycoor

13,xcoorl14,ycoorl4, ...
xcoorl5,ycoorl5,xcoorl6,ycoorl6)

axis([0 30 -0 30])



%453a

aa=zeros(5,5);

for kk=1:5, aa(kk,6-kk)=1; end;
aa

%453b

aa=zeros(5,5);

for kk=1:5, aa(kk,6-kk)=kk; end;
aa

%453c

aa=zeros(5,5);

for kk=1:5, aa(kk,6-kk)=(-1)"kk; end;
aa

%453d

aa=zeros(5,5);

for kk=1:5, aa(kk,6-kk)=-(-1)"kk; end,;
aa



